1. Kanenaapuoii yuebHbiV rpaduk

Mec CeHTs6ps QkTabpe Hosbpb [exabps SlHBapb @egpans Mapt Anpens Mad S
Hepm) 1} 2{314)5,6| 78910111 12}13}14} 15, 16{17| 18] 1920} 21} 22\ 23} 24| 25| 26| 271 28] 29} 30| 31|32} 33| 34| 35| 36| 37 | 38] 35} 40} 41} 42} 43
— = = Y
il ( Y
I — 313 =}— — Yy 213K KiK Ki K
L =) = 3
= - £
1 — 313 =— nin _ SEEIES KK KiK
m = = E}IE
] Ml = 3
| = | n E]
n 3
1 — 313 =— i o - S 313K KIK KiK
- | n - -
nl - 3]3
= = | jnin EINRE
= 3 ] [nin EIE
v nininisisisl= N s T T T T KK KiK
T — o A= | B &
It = a1 Ty 3 B r
2. CBofHbIE AaHHbLIE
Kypcl Kypc 2 Kyoc 3 Kypc 4
cem. ljcem. 2 Beercjcem. licem. 2 Beero jcem. Lcem. Z Beerc|cem. lcem. Z Beero
MpORONKKTENEHOCTE OBy4eHs, 8 165/6] 24 {405/6/165/6] 24 |405/6{165/6, 24 |405/6/165/5 25 [425/6
TOM YHCAE:
Teopetuueckoe obyHeHue 145/6(204/6] 353/6]145/6] 15 | 335/6|145/6; 19 | 335/6|103/6; 13 4/6| 24 1/6
3 |MpOMexyTOHHas aTrecraums 2 2 4 2 3 5 2 3 5 3 3 6
Y [YuebHasn npakTuka 12/61 12/6
N {Mpo13BOACTBEHHAS NPaKTHKA 2 2 2 2 13261326 64/6
I |Foc. akzameHb! w/unm 3awmTa BKP s 5
K | KanmuKymnb g 9 $ g g 9 7 7
Hroro 165/6] 33 |495/6165/6) 33 |495/6/165/6] 33 |485/6 1556 33 |455/6

|

= EHepa6o'-me Npa3gHVHEie AHK: B COOTBETCTBMM o CT. 112 TpyRosoro Kogexkca PO
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Kypc 1 Kypc 2 Kypc 3 Kypc 4 Kypc 5
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